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Problem quickname: 6571

Solutions to smp-6571-1/TQXW

Worksheet

1

Calculate the result for each of the matrix cells.

O Tar [ 5 [ ] P+ 3] 26 [ 2
43 80 48 60 28 66 54 30
60 97 65 77 21 59 47 23
29 66 34 46 27 65 53 29

N+ T[] Y +]n]s e
27 42 99 41 24 99 32 87
21 36 93 35 8 83 16 71
24 39 96 38 18 93 26 81

2)

Calculate the result for each of the matrix cells.

A+ T o Julw] P+ i) 9] u
) 14 19 24 20 38 29 34
12 21 26 31 ) 23 14 19

D - T 6 [ 35 [ 34 ] D[+ [ 28] 2] a
42 36 7 8 11 39 31 42
46 40 11 12 4 32 24 35

3)

Calculate the result for each of the matrix cells.

a)

- 99 111 654 | -115

226 127 115 | -428 | 341

884 785 773 230 999

843 744 732 189 958
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Solutions to smp-6571-1/TQXW

D[4 207 [ 137 [ 8 | 566
127 | -334 | 10 | -119 | 439
582 | -789 | -445 | -574 | -16
2316 | -523 | -179 | -308 | 250
) - [ 204 | 315 | -420 | -348
701 | -497 | -386 | -281 | -353
370 | 574 | 685 | 790 | 718
535 | -331 | -220 | -115 | -187
D[4 T 547 [ o784 | 632 | -308
189 | -358 | -595 | -443 | -119
676 | 129 | -108 | 44 | 368
95 | -642 | -879 | -727 | -403
4)
Calculate the result for each of the matrix cells.
A 2 s8] 5 | P[+ 23] 33] 18
32 | 34 | 90 | 37 23 | 46 | 56 | 41
30 | 41 | 97 | 44 3 | 26 | 36 | 21
11 | 13 | 69 | 16 30 | 53 | 63 | 48
O + T 37 ] 2 [ 36 ] V[ + [ 7] 3 | 4
15 | 52 | 17 | 51 2 | 92 | 57 | 66
5 | 87 | 52 | 86 10 | 80 | 45 | 54
25 | 62 | 27 | 61 21 | 91 | 56 | 65
Good Luck!
www.dw-math.com Page 2

smp-6571-1/ TQXW

Quick:
6571



